
Product 
part no.

Component 
parts

Product 
part no.

Component 
parts

ZP2 - T q W m - w

Pad size

Oval flat type

Vacuum inlet (Female thread)

Symbol
qPad size symbol

3507 4010 5010 6010 4020 5020 6020 8020 4030 5030 6030 8030

A
A

d
ap

te
r

w
��V

ac
uu

m
 

in
le

t

F
em

al
e 

th
re

ad

M5 x 0.8 B5 ZP2A-001 ZP2A-002 ZP2A-003

Symbol Symbol
qPad size symbol

3507 4010 5010 6010 4020 5020 6020 8020 4030 5030 6030 8030

A
A

d
ap

te
r

w
�V

ac
u

u
m

 
in

le
t

O
ne

-t
ou

ch
 

fit
tin

g

ø4 04

e
�C

on
ne

ct
io

n 
th

re
ad

Male thread M5 x 0.8 A5 ZPRS-04-A5

Female thread M5 x 0.8 B5 ZPRS-04-B5

ø6 06
Male thread M5 x 0.8 A5 ZPRS-06-A5

Female thread M5 x 0.8 B5 ZPRS-06-B5

BPad mounting adapter ZP2A-001 ZP2A-002 ZP2A-003

CMounting nut (Single unit) M5 x 0.8 NTJ-015A

DGasket (Single unit)
10 pcs.*1 ZP-5G2

100 pcs.*1 M-5G2

*1  The gasket (single unit) sales unit is shown.

ZP2 - R q  W  m - w - e

Pad size

Oval flat type Vacuum inlet (One-touch fitting)

Connection thread (Male/Female thread)

CMounting nut

DGasket

DGasket

AAdapter

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZP2-T

Pad material

BPad mounting adapter

AAdapter
(With gasket)

Adapter Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZP2-R

Pad material

Oval Pad ZP2 Series

Mounting Bracket Assembly

Female threadMale thread

AAdapter

(With mounting nut
With gasket )

Same for the ZP/Basic typeSame for the ZP/Basic type

195A



wBuffer stroke

ZP2-T6010WN K 10 B5
10 B5ZPB2 K

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

ZP2 - T q W m K w - e

Pad size

Oval flat type Buffer stroke

Vacuum inlet (Female thread/One-touch fitting)

CMounting nut

Symbol
qPad size symbol

3507 4010 5010 6010 4020 5020 6020 8020 4030 5030 6030 8030

w�Buffer 
stroke Stroke

10 V

20 V

30 V

40 V

50 V

A
B

u
ff

er

e
�V

ac
u

u
m

 i
n

le
t

Fe
m

al
e 

th
re

ad M5 x 0.8 B5 ZPB2Kw-B5

O
ne

-t
ou

ch
 

fit
tin

g

ø4 04 ZPB2Kw-04

ø6 06 ZPB2Kw-06

BPad mounting adapter ZP2A-001 ZP2A-002 ZP2A-003

C�Mounting nut 
(Single unit)

M10 x 1 ZPNA-M10

D�Gasket  
(Single unit)

10 pcs.*1 ZP-5G2
100 pcs.*1 M-5G2

*1  The gasket (single unit) sales unit is shown.

Buffer Assembly: Vacuum Inlet Direction Vertical  T Type/ZP2-T

BPad mounting adapter

Pad material Buffer specification: Non-rotating

One-touch fitting

DGasket

ABuffer

(With mounting nut
With gasket )

Same for the ZP/Basic typeSame for the ZP/Basic type

196

Oval Pad
Mounting Bracket Assembly  ZP2 Series

Z
P

Z
P

2
M

o
d

el
S

el
ec

ti
o

n
O

va
l

O
va

l
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

A



wBuffer stroke

ZP2-R8030WF K 30 06
30ZPB2 K

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

ZP2 - R q W  m  K w - e

Pad size

Oval flat type Buffer stroke

Vacuum inlet (One-touch fitting)

DMounting nut

EGasket

Symbol
qPad size symbol

3507 4010 5010 6010 4020 5020 6020 8020 4030 5030 6030 8030

w�Buffer 
stroke Stroke

10 V

20 V

30 V

40 V

50 V

ABuffer ZPB2Kw

B
�Bu

ffe
r c

on
nec

tio
n 

ada
pte

r

w
�V

ac
u

u
m

 
in

le
t

O
ne

-t
ou

ch
 

fit
tin

g

ø4 04 ZPRS-04-B5

ø6 06 ZPRS-06-B5

CPad mounting adapter ZP2A-001 ZP2A-002 ZP2A-003

D�Mounting nut
(Single unit)

M10 x 1 ZPNA-M10

EGasket (Single unit)

10 pcs.*1 ZP-5G2

100 pcs.*1 M-5G2

*1  The gasket (single unit) sales unit is shown.

B�Buffer connection adapter 
(With gasket)

CPad mounting adapter

ABuffer
(With mounting nut)

Pad material

Buffer Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZP2-R

Buffer specification: Non-rotating

Same for the ZP/Basic typeSame for the ZP/Basic type

Same for the ZP/Basic typeSame for the ZP/Basic type

197

Oval Pad
Mounting Bracket Assembly  ZP2 Series

A


	Mounting Bracket Assembly



